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frafafa & A woie W I 150 = § Al Rt fafy

Write short notes on the following in about 150 words each : 10x5=50
1.a) sfearma sfiEm | '

Semi-autonomous cell organelles - 10
1.(b) g FE IReea

Multiple factor hypothesis 10
L.(c) RaTRitarE I @@

Structure and functions of peroxisomes 10
L) o F Fifie fafy

Cell wall in plants 10
I.(e) &g sww (| -=ifé)

10

Southern blotting
2.(a) fafim wlret & s=f ) e gro i Sfie el § smear ofy war

Discuss the different processes by which solute moves across cell membrane.
10+10=20

.(b)  F-oRE w1 R P TS wp W av o |
What are B-chromosomes ? Describe their significance. 10+5=15

(€)W SR G T wfdt A v ¥ o & S oww A OF, 98§ 787 W ok 277
93 A R T € R a w ar whew won & 5 A <Romm 3.1 &
AT Fq & AT w € A IR P = 5% A |
dr=2-1=1% foq 005 W F-=RT = framr 7 3.84 2
In a cross between pea plants with green and yellow coloured pods, the F; individual
scgregated into 787 green and 277 yellow pod coloured individuals. If you have to
::m ;I.:rat these results agree with the expected ratio 3: 1, then apply Chi-square

= JYe.

The control value of Chi-square at 0-05 for dp=2-1=] j5=3.84 15

_(a},/!gﬁmﬁmmt?ﬂfmﬁmaﬁﬁdﬁﬂmmmﬂzmrmfml
What is organic evolution 7 Highlight the mechanisms goverming organic evolution.
] S+10=15
b) st wnfa f afeeen s gk wee ) wen B |

Explain the phenomenon of incomplete dominance and its significance, 10+8=15
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3.(c)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)

5.(c)

5.(d)

5.(e)

6.(2)

—

St ufefén war @ 2 aﬁaﬁﬁarﬁm%@rﬁm#agmﬁaﬁtmﬁmaﬂﬁﬁrﬁﬂl
What is gene editing? Discuss its applications and advantages for genetic
engineering. et 10+10=20
A FEAAT HFA (%zrﬁa)mﬁﬁmmwmaﬁﬁ% ? HFIA W FA
# arf-aReR e & swan == Hfor |
How male sterility helps in heterosis breeding ? Discuss the application of barnase-
barstar system in achieving heterosis. 10+10=20
SRCRS Wﬁwﬁmwmlaﬁmwﬁ?
Describe the steps in DNA sequencing. What are its applicaﬁggg? 10+5=15
s IR (ﬁmag;imﬁ}%amwmiﬁf% ? fafirs waR F AR
(FTRTgeR) TFds TREHAV STl Sifere |
What do you mean by signal transduction? Explain the different types of
intracellular signal transduction. 5+10=15
9usg ‘B’ SECTION ‘B’

frefrfea & W ® s 150 v H aftw Rt fofe -
Write short notes on the following in about 150 words each : 10x5=50
afet & FH & qE
Symptoms of mineral deficiencies < 10
aR TS, @R, — e, e o g |
RAPD PCR - strength, weakness and application. 10
WS 9=
Photophosphorylation 10
quwm dt F s
Endangered Plant Species 10
qigd 99HEK
Phytoremediation - 10
wfsva (OomsE) AR wERlwvd (SICAEE ) i g it sk st fimfafa &1
Fuig A |

——Differentiate between enzymes and coenzymes and describe their mechanim(';s ;”g

10+10=2

action.
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6.(b)

6.(c)

7.(a)

7.(b)

7.(c)

8.(a)

8.(b)

8.(c)

foctas Su=Te @ wfomfia 5% | s Seeorseg & Wb F o wr v
2

Define secondary metabolites. Discuss the importance of secondary metabolites to
plants. 5+10=15

Nyae F1 R ? W § aRaew § gefte it aReenat & av S |
What is phloer[f\?(bescribe the various hypotheses concerning transportation in
phloem. £ }\ 5+10=15

st fafaue w wiem & wga st @ i o) | A F wEwE B an a

& foq s % = wgw 9o o E 7

Describe the key goals of the convention on Biological Dh:,?rsily. What steps have
been taken in India to implement the provisions 0? BD 7'/ 15+5=20

wrafi @t SRR i whEr § sl S wosEt SR | =@ s
(i) sruRon B = A AR d S R E |

Discuss the sequential steps in the process of primary auto hic succession. What
are the three popular theories that explain climiax concept 7\ 10+5=15

T -Hed, m—ﬁmﬁrﬁa-ﬁm%w?mﬁwﬁrwaﬁaﬁlw
wfafafimt § vy F weERw 9% @ R fomr & 2

Describe the movement of phosphorus /through lithosphere, hydrosphere and

biosphere. How human activities have impacted the phosphorus cycle in nature ?
10+5=15

aﬁiwﬁﬁaﬁqmmﬁaﬁwﬁm&afﬁr&qiaﬂﬁmé%@@%
I R R % et s ¥ G @ o B |

Define the terms photoperiodism and florigen. Describe the mechanism of response
Otope tlorige ~chanism of respc

in short day and long day plants giving suitable cxampl{v_e/s./,, 20

et Hifo i fafim ehare 1 s a2 w3 fre wer dveE @t
%IWW%WMW@WM%WWEMWI

Explain how the &ifferent" greenhouse gases -contribute_to_the raising_global
temperature. Add a note on the adverse effq:_t_s of global warming and how to
mitigate. - =il 10+5=15

W%W-ﬁ?ﬁﬁﬁ?iﬁaﬁﬂvﬁﬁﬁqléﬂ%ﬁ%qﬂﬁ@ﬁum%ﬁm
ATl & e @ AW )A€ 7

Describe thephytogeographical regions of India) What are the environmental factors
that influence their species composition?  _\ 10+5=15
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